eigl=
5H5H

BIE 4/17
JNOHBEARENER G ESIZE RIS
55 LYFrIvIIlREPTLKS

KIBR7 Y LAZTY ¥ Tl

9 8Ea—ILF 2
X =
5H4H
8:30 7Ea—L R
7 4 8 1 0
X = * =
5H3H 5H1H
8:30 10:30
1 3
X =
5A1H
8:30
2 3 4 5
X B - ® = Z
Z I | Z + /
Zs H 7Y 5 |
T X A 4% L
v L v 7
L F T L
4 v L A
z 7 E +
7 e (&3]

BT 7TEERFERZRATHRGSOEE S

| EAEREE |

% 4 oo

PO B SE N N

X =
583H
10:30

BOH B oo > o ~

X =
584H
10:30

WO B oo & R o

X =
583H
12:30

R EE e

AT

ne :

IR
2
=
5H4H
8:30
6 0
m A
5930 N
8:30 mEE12[E 5
*x =5 £
5A1H
12:30
10 11 12 13 14
& y—4 I I 5
7 = O m *
L &l 12 ] 7
| {E =5 % Z
* P % P B
T Bk & ba]
E N I
7S

JNOHBEARENER G ESIZE RIS
RKE I LYTUIvILREIS T LKRKS

| NBSAE TEMH |
ﬁﬁlz@
2 | 1
JiIl O
584H
10:30
3 8 1 3
g IO
5H3H 5H3H
10:30 12:30
15 16 17 18
J 8 2 A
A i + =5
L = A il
% T 12 =
ES ¥ =% P
B R %
&



